Prof. Moore
Paych 610

Trend Analysis with Unequally S paced Independent Variables (Example in Handout #16 -- 3-way factorial)

Handout #9, p. 1

Independent Variables: (&, 12, 24 7206 =1 2, 4, 12. Femember that X fakes the value of the I'V.

Li11&a.1‘=C]-=al+:-:i
':1=H.1+1
'::=ﬁ]_+2
':3=H.1+4
':4= H.l+ 12

ICj=4a;+19
D=4a;+19
.19 = 4a,

—475 =a
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Linear Coe fficient
Walue
.

C1=-473+1=-375
Co=-473+2=-273
C3=-4T73+4=-75
Cq=-473+12=-T23
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Independent Variables

Quadmatic = Cj=an + by +3;"

Cp=ay +Ba (L) + 1
Cn =y + DB (2) +2°
Cg =y + by (#) + 47
Cy =y +DBa(12) + 127

ICj=4ay + 19by + 163

= olve for an using h:

0 = 4an + 19(-13.61) + 163
0 = 4a, - 93.59

93.59 = 42, (50

Find coe fficients using dn ancd t'i

C;=234+(1361(1)+1=1079
Cn =234+ (-1361)(2) +4= 18
C3=234+(-1361)(4) + 16 =-1504
Cyq =234+ (-1361)(12) + 144 = 408

—_
Lh
1

Cadratic Coefficient Walue
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Solve for h:

(:3.75)(an + b + 1)
(-2.75)(an +2bn +4)
(-.75) (@ +4ba + 16)
(7.25) (@ + 121n + 144

;

-3.758 - 3.75bn - 3.75
-2 758n - 5.5bs - 11
-7589 - 3b - 12
7258, +87hy + 1044

Oay + 74750, + 101725

‘+ {continued next page)

Handout #9, p. 2

0 =7475by + 101725
-1017.25 = 74.75bs

~13.61 = ba

I
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Independent Variable Values

Mote: This handout was originally prepared by TA Kim Dadisman. Thanks, Eim.



